ohe T L FER ABCD 9 §F %3] A

A A o4 BT, T of fidl 419 4 P 4‘»
,Q 23k, PAQ = 50° U o, LAPQ o P .ﬂ‘ b

271 Tsjelet. PR
» °
> Heh: 65°

~&B ~

/B=/Do|1, AB=AD,

/APB = /AQD = 90°

AAPB = AAQD (RHA &%) —» AP = AQ °|E=E aAAPQ &
o] FHAZY.

180° — 50°

. LAPQ = 5

= 65° o]t}




-

ul
&0

A

-

ull
R0

-

ul
KO




t}S 3L gABCD 9] ¥ BC o 93
2ol AC // DE 7} 94 A E & &8 Zojtt,
OABCD 9] ¥°]7} 30cm? ¥ W], AABE 9]

Hol=?

A}

re
o)

M

@D 15em? @ 20cm? @ 25cm?
@30 cm? ® 60cm?

B

AC //DE ©]2& AACD = AACE ©]t}.
AABE = AABC + AACE

= AABC + AACD

= oABCD

. AABE = 30( cm?)




4. oS 1H)A LABC = /AED ¥
o, x o] Ao]E Fsfofet.

>
> HE x=16cm

AABC & AAED (AA E2)
AB:AE = AC: AD,
16:8 = (8 +x): 12

8x+ 64 = 192,8x = 128

x = 16(cm)




th& 1”elA] /B = /DAC = 90°, ZACB = /DCA ©]t}. o] o, x o]
A2?

@ 15 @16 ® 17 @ 18 ® 19

B

AABC ¢} ADAC 9|4 /B = /DAC,

/ACB = /DCA, /ABC = /DACC|E=2
AABC @ ADAC (AA B-S)
AC:DC=BC:ACO|EZ 12:x=9:12
Ox = 144 Lx=16




= AtthE]&E ABCD oA M
AB//DE AF //DC o]t} T:10cm,B =
Aol & Ht=A| 45t A7

A 10cm D
P\/Q N
BT ¢
~24cm-

@ 2cm @30111 ® 4cm @ 5cm

8

CD & =#o|1
o] U’H, PQ __4

® 6cm

— 1
MN = 7 (24+10) = 17(cm)

MQ =PN=AD =10(cm) °]EZ
MN =10+ 10-PQ =17
- PQ=3(cm)




7. e AEAA AB ©] 3 szl - —.*7—.L E, Folxa, D& AC 9
O

\VARR 4
0x
iy

35

~&B \

FD = 2EP = 10

CE = 2DF =20
PC=EC-EP=20-5=15

kA Zo]o] §h2 20 + 15 = 35 ©|t}.




-2 1 9] At & ABCD oAl A M, N
2 77} AB, CD 9] SHelth. AD + BC =
32cm, MP : PQ =3:2 ¥ W], PQ 9] Zo]
£ Fafolet,

> cm

> ®eh: 4em

Q

~&B

AD:BC=MP:MQ=3:5
3

Ezg 32 =12 (cm)
— 5
BC:§><32=20(cm)
P_:%(20—12)=4(6m)




17 olg

20] 1:50000 Q1 A &= 91014 Wol7t 50 cm? Q1 He] 4
otofet,
> = km?
> &E 12.5km?
) =12.5 (km?)

1: 50000 22 1+ 9500000000

50 x 2500000000 = 125000000000 (




